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Note: Q1 is compulsory and solve any FOUR from the remaining SIX questions.

Q1) Case Study 20 Marks (Compulsory)

Best Food Products Compan




Mr. Raghavan resolves to put in the product manager system in his organization as out-
lined and hoped for the best. But he wondered how would he avoid the problem of con-
fusion in reporting relationships.
Questions:

1) Analyze the above case and suggest a suitable title for the same.

2) What do you think about Mr. Raghavan’s programme? Would you have done it

differently?
3) What would you do to ensure that there is no confusion in this organization?
4) Does span of control play an important role here? Comment.

Attempt Any FOUR from the Remaining SIX Questions

Q2) Any two from (a) or (b) or (¢) ———  (5x2) = 10 Marks
a) 'Any Change has its enemies- both internal and external in the organization'.
Comment.

b) How does change takes place in an organization at a team level?
c¢) Why is Organization-wide Change difficult to accomplish?

Q3) Any two from (a) or (b) or (c) ————  (5x2) = 10 Marks
a) Define OD & explain the Positive Model of OD.
b) What are major Forces in the process of Change?
¢) Should structure always follow strategy, why?

Q4) Any two from (a) or (b) or (c) ———  (5x2) = 10 Marks

a) There is a problem of high attrition rate in the organization (IT industry). Despite
taking various measures the attrition rate is not coming down. You have been
hired as a consultant to look into the matter. What measures would you
recommend to this problem?

b) Design a diagnostic model of change at an organizational level.

¢) If you are the HR manager and your company has brought some structural
changes in the organization which are resisted by your employees, what would
you do to overcome this resistance?

Q5) Any two from (a) or (b) or (c) ———  (5x2) = 10 Marks

Identify which strategy for overcoming resistance can be used in the following

cases and explain the strategy:

a) Bob is nearing retirement and does not see the point of what he calls 'change for
change sake'. In the past he has been most vocal about change and has been
obstructive when you have attempted to implement any sort of change. He is the
voice of the group and staff members afford him much respect. They let him take the
lead and often follow his decisions. The current change will mean he has to travel to
a site 18 miles away from home on a daily basis

b) Angela lacks confidence in her own ability and whilst she is very good at her job she
spends too much time checking & checking again to make sure that she has done
things correctly. She is nervous about the change you are proposing as it means that
her work will be monitored more closely and you will see that she takes almost
double the amount of time to do a job as other members of the team.

c) Peter is enthusiastic about change as long as the effect on him is positive. If there is
any hint of a negative effect on him (even in short term) he behaves in a very different
way. He openly agrees with the change but thinks privately (and shares his thoughts
with colleagues) that the change will never work and he's looking forward to seeing it



all fail. The current change means that Peter has to work for a supervisor who he
does not see eye to eye with.

Q6) Any two from (a) or (b) or (c) ———— (5x2) = 10 Marks
a) ldentify the problems that the OD consultant might face during the process of
OD.

b) Differentiate between Incremental & Disruptive Innovation.
¢) How would you bring change through product innovation? Explain the same with
an example.

Q7) Write short notes on Any two from (a) or (b) or (c) ———  (5x2) = 10 Marks
a) Viable systems Model
b) Role of ethics in change management
c¢) Planned Change



